
Q1) a) What is an embedded system? Quote any four applications of embedded
systems. [3]

b) Differentiate between microprocessor and microcontroller. [6]

c) Explain the following Arduino functions with the help of appropriate
syntax: [6]

i) analogRead( )

ii) analogReference()

iii) analog Write()

OR

Q2) a) List down any six features of Arduino IDE. [3]

b) Explain the following GPIO functions with the help of appropriate
syntax: [6]

i) pinMode()

ii) digitalWrite()

iii) digitalRead()

c) State any six significant features of ATmega328P Microcontroller.[6]
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Q3) a) What is serial communication in Arduino? Define baud rate. [3]

b) Explain pin functions of LCD module and draw the diagram to interface
LCD module with Arduino board. [6]

c) Explain the interfacing of an LED with Arduino board and write an
algorithm to blink the LED. [6]

OR

Q4) a) List down any six features of in-built ADC in ATmega328P
microcontroller. [3]

b) Explain the following Arduino functions with the help of appropriate
syntax: [6]

i) Serial.read( )

ii) Serial.available( )

iii) Serial.print( )

c) What is LM35? Draw the interfacing diagram of LM35 to Arduino
board displaying the parameter value on LCD module. [6]
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